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Combined Graduate Level Examination-2019 (Tier-1)

[Roll Number

Candidate Name

Venue Name S2A CONSULTANCY SERVICES PVT. LTD.
Exam Date 07/03/2020

Exam Time 10:00 AM -11:00 AM

Subject CGLE Tier |
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Ans
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Question ID : 816161549
Status : Answered
Chosen Option : 3
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Q.2 Read the given statements and conclusions carefully. Assuming that the information given in the statements is true, even
if it appears to be at variance with commonly known facts, decide which of the given conclusions logically follow(s)
from the statements.

Statements:

1. Some cars are buses.

2. Some buses are trucks.

3. Some trucks are scooters
Conclusions:

I. Some cars are scooters.
1I. Some trucks are buses.
III. Some scooters are buses

IV. All scooters are trucks.

Ans < 1. Only conclusions I and II follow.
/< 2. Only conclusions IT and IV follow.
« 3. Only conclusion II follows.

/< 4. All the conclusions follow.

Question ID: 816161538
Status : Answered
Chosen Option : 3

Q3 3 " F TAG F{, S GT AT G T aAFH FT AFHL AG a4 A FFT 2

Ans

. ¢

w1t

Question ID : 816161548
Status : Answered
Chosen Option: 3
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< 2 H@rr

< 3 3IAF
< 4 OreT

Question ID : 816161532
Status : Answered
Chosen Option : 3

QS5 3wl ¥ 3@ g F oTEa A, B R gEer § g o W FEE 9 ¥ A W gEer o &
STt |

P_rsqrps_pgs_qr_qrps_p_s

Ans XK q, P, Pt q
v29,rp8sr4q
r R T
R - T A o B A

Question ID : 816161536

Status - Not Attempted and
" Marked For Review

Chosen Option : --
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Far femrg g

Ans v e
% p O
<>
X2
A O
v &)
<>A
<>
X 4 O
<>

Question ID : 816161551
Status : Answered

Chosen Option : 3

Q.7 =7 ReeT =1 = wi, Goe 90 TEw & 98 wEw § S gud T & g ¥ o ob e o

o T R

6:16 : 20: ? = 11: 81

Ans  of 1. 324

<2 91

<3120

< 4 361

Question ID : 816161540
Status : Answered

Chosen Option : 1
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Q.8 fawir f¥wa T amsT I CIRCULAR #T 24-3-9-24-1-15-5-9 % &9 # forwr Smar &1 37 smor
VERTICAL @1 & forar smeem?

Ans X 1. 5-2-9-7-3-24-5-15
X 2. 22-4-9-7-9-24-5-15
v 2 5-4-9-7-3-24-5-15
X 4 22-4-9-7-3-23-1-15

Question ID : 816161535
Status : Answered
Chosen Option : 3

Q9 =W HeR-waE v aw ¥, et & O Gl 7 e e @A § R o s § 5w wwae
IB-TAE & TqF HL

Ans X1 SVY
v 2 FIK
X3 NQT
X 4 XAD

Question ID : 816161530
Status : Answered
Chosen Option : 2

Q.10 =forch werel & WET HAST F OTHA B, S FAGER + Fohd H SE AT SO TET ST

wgfea T &

(14 +9+6) = 15+ 8
Ans x1' K, =: +: i

XN2—, %X =

X3, Ty B X

(4, X = & =

Question ID : 816161544
Status : Answered
Chosen Option : 4

Q.11 Select the option in which the words share the same relationship as that shared by the given pair of words.

Bacteria : Illness

Ans 1. Appraisal : Performance
/< 2. Painting : Painter
#< 3. Disease : Doctor

\f 4. Carelessness : Errors

Question ID : 816161533
Status : Answered
Chosen Option : 4

Download More Papers From www.GovtJobsAlert.In




Download More Papers From www.GovtJobsAlert.In

Q12 35 Reed & 70 &, T FEmst & Aw § o gew § @ A9 Jw ov agenw & vt &
= &

1710240183

Ans  of 116 : 96 : 144
X2 23: 162 : 207
<318:104: 171
X413:78 : 108

Question ID : 816161542
Status : Answered
Chosen Option : 1

O3 Ryfafes gEer & wa-Rea (?) H F9F A T WER-THE F AT H
eBd, hXi, kTn, nPs, ?
Ans o 1. glx
< 2 Qlv
< 3. gKx
< 4 plw

Question ID : 816161528
Status : Answered
Chosen Option: 1

Q14 Crafafa weel & 30 %8 § cyaftyd Y, @ 3 IS T # A §
1. Decipher

Decide

Decline

Deceive

Decimal

o o A w N

. Decision

Ans X 1. 4, 5,
r A B
v 4,2
X 4 3.5,

ol * L B A 6
i
o ;o n d
RN W D W

Question ID : 816161529
Status : Answered
Chosen Option: 3
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Ans

Q15 =7 ypfay =1 w97 Ft, = FEERET gE@er § Yo FEa (7) $ T 3 gFT L

=) =]
e——
>
<«

MY 4
OAw
QmYy
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|
I

Question ID : 816161546
Status : Answered
Chosen Option : 2

Ans

Q.16 gmmst & ow gFw fow aw § T @ O 5 7 R o @ wA £ R o s f e

FOA TEA-GIH F TI7 HL

X1.4/5:3

< 216/20 : 6
V3 25/41 : 8
<4 30/51:9

Question ID : 816161541
Status : Answered
Chosen Option : 3
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Q17 A + B means ‘A is the mother of B';
A— B means 'A is the husband of B';
A x B means 'A is son of B';
A+ B means ‘A is the daughter of B.
If, Wx Z+Y+X, then how is X related to Z?
Ans X 1. Son
' 2. Husband

/< 3. Daughter
X 4 Wife

Question ID : 816161537
Status : Answered
Chosen Option : 2

Q.18 e ol dorlr F, A9 A gl & AN W Sy el F e F yeE o % w1y § ow aw
Yo T T FT &1 24 AT F T $ T 1368 v 32 Freeie F T & T 764 F
T FOAT AT Tl & v e w15 TReeet F ww % BT e A weer g

Ans X 1. 7290
v 2 F260
X 3. 7280
X 4 7180

Question ID : 816161545

Not Attempted and
Marked For Review

Chosen Option : -

Status :

Q.19 Four words have been given, out of which three are alike in some manner, while one is different. Select the odd word.

Ans X1 Scream
#< 2. Roar
v 3. Mumble
#< 4. Shout

Question ID : 816161531
Status : Answered
Chosen Option : 3
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Q.20 The given Venn diagram represents results of a class of students:

The triangle represents students who scored 85% and above in Maths, the circle represents students who scored 8§5%
and above in English. the rectangle represents students who scored 85% and above in Science, and the square represents
students who scored 85% and above in Social Sciences. The numbers given in the diagram represent the number of
students in that particular category.

11

13
19
3/
17 19

J s N\

ba

How many students scored 85% and above in all the subjects?

Ans K 1. 15
V25
<311
X417

Question ID : 816161552
Status : Answered
Chosen Option : 2

Q21 fu =v Yoot F TEEE FeETA H AN 3H FEA F TS F, S e BE (?) F g 9w o

Herr gl
29 |71 67
8 11 14
4 7
3 6 3

Ans x 1.

X
w
B WO o

Question ID : 816161543

Not Attempted and
Marked For Review

Chosen Option : --

Status:

Q.22

Ans x1_

Question ID : 816161534
Status : Answered
Chosen Option : 4

Download More Papers From www.GovtJobsAlert.In




Download More Papers From www.GovtJobsAlert.In

Q.23
Ans X 1.
X2
3
X
Question ID : 816161547
Status : Answered
Chosen Option : 3
Q.24
Ans X 1.
2
X 3.
X 4
Question ID : 816161539
Status : Answered
Chosen Option: 2
=
Q.25
Ans « 1.

Question ID : 816161550
Status : Answered
Chosen Option : 1

Section : General Awareness

Q.1

Ans

Who was appointed as brand ambassador of Visa - the payment technology company in
20197

X 1. Dutee Chand
o 2. PV sindhu
x 3. Sania Mirza
< 4.PT Usha

Question ID : 816161575
Status : Answered
Chosen Option : 2
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Q.2 T AT 3R IFH el TST & FEt g T T B
Ans X' 1. greraferar - fRETeE W

o 2. e - dxa

#< 3. Torard - efeah

X 4. e - fRER

Question ID : 816161554
Status : Not Answered
Chosen Option : --

Q.3 varft R ffaw wa waman simar 82
Ans X1 1 SR

/X 2.8 Sad
o 3.9
X 4.2 Sad

Question ID : 816161576
Status : Answered
Chosen Option : 3

Q.4 The power of a lens is —=2.0 D. Here 'D' stands for:
Ans  of 1 diopire

x 2. degree

x 3. distance

X 4. dilation

Question ID : 816161561
Status : Answered
Chosen Option : 1

Q.5 RIS I TR Shgl (€34 82
Ans X1 @eRE &

X 2 wiehgza &

X 3. gRemd

o 4 ey A

Question ID : 816161566
Status : Not Answered
Chosen Option : --
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Q.6 fm=fafae asl & @ wiw a1 #7e RAifem | fFaa 82
Ans (1.3,-@3;

X 25

X 3.2

/X 4 am

Question ID : 816161553
Status : Answered
Chosen Option: 2

Q.7 Which among the following is NOT an insulator?
Ans X" 1. Ebonite

J 2. Mercury
x 3. Glass

X 4. Dry Paper

Question ID : 816161560
Status : Answered
Chosen Option: 2

Q.8 Which Indian male cricketer won the BCCI CK Nayudu Lifetime Achievement Award for the

year 2019?
Ans X" 1. Rahul Dravid

x 2. Sunil Gavaskar
o 3. K srikanth
x 4. Sachin Tendulkar

Question ID : 816161573
Status : Answered
Chosen Option : 1

Q.9 f_deR 1920 & WRT AT iy sifaF 1 emats= A frarmar um

Ans X" 1. T (o1 9E)
X 2. ETH
X 3. AR

( 4. heTeh<T (3 chiclehldT)

Question ID : 816161568
Status : Answered
Chosen Option : 2
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Q.10 ATM & 'T' oht </ 312 872

Ans  off 1. 2e/momE (Teller)
x 2. ZiEhR/ e (Transfer)
x 3. givteM/a=-8 (Transaction)
/X 4. ¢e/fg AfeaT (Trunk)

Question ID : 816161555
Status : Answered
Chosen Option : 1

Q.11 R&sR 2019 &, fgaTae wer & Agdin TfeaR (€3) o1 T aeea: 3T @1 Ta1?
Ans x1a}qﬂm

X 2. Tt g

(3.312?{{13'!1

X 4w @

Question ID : 816161577
Status : Answered
Chosen Option : 3

Q.12 ¥Rd & dfem= & ugen denee fora af & fomar mar an?
Ans X" 11950

/X 2.1953

75 3.1952

of 41951

Question ID : 816161572
Status : Answered
Chosen Option : 4

=

Q.13 fAafaf@a kel & @ w9 @ 7 SR & Rehe Yoifur STo-vura @1 FRfor @t 82
Ans X1_;ﬂtﬁ

/X 2. g

< 3.pf

of 4 T

QuestionID : 816161563
Status : Answered
Chosen Option : 4
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Q.14 werrsh Sfaw satfa Siar gt fiarerdal @t o1 gRem fiwr 8101 (FeR) e el 81
Ans  of 1 27T

X 2347

X 3.35qm@

X 4.387m@

Question ID : 816161556
Status : Not Answered
Chosen Option : --

Q.15 The scientific study of a cell is called:
Ans X" 1 taxonomy

X 2. physiology
x 3. histology
J 4. cytology

Question ID : 816161558
Status : Answered
Chosen Option : 4

Q.16 =il & def #, Fr=fof@a ol & & &= &1 2reg 'srge &l qerfar 82
Ans X 1. sreor

X 2. R

o 3.7

5 4wz

Question ID : 816161565
Status : Not Answered
Chosen Option : --

Q.17 The Pritzker prize is an international award given to recognise contribution in the field of

Ans X" 1. medicine
X 2. mathematics
x 3. literature

( 4. architecture

Question ID : 816161569
Status : Answered
Chosen Option : 2
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Q.18 Prafafle gt & @ it a1 g e o & wef F Wt &2

Ans

25 1. i - Rifnm
o 2. frgere - swRrEs
75 3. St - A ww
75 4. AT - ST TR

Question ID : 816161564
Status : Answered
Chosen Option : 3

Q.19 Who is the author of the book 'Wise and Otherwise: A Salute to Life'?

Ans

x 1. Amrita Pritam
o 2. sudha Murthy
x 3. Kiran Desai

x 4. Zoya Hasan

Question ID : 816161570
Status : Answered
Chosen Option : 2

Q.20 Which among the following is a cation?

Ans

( 1. Ammonium

75 2. lodide

75 3. Chloride

x 4. Fluoride

Question ID : 816161557
Status : Not Answered
Chosen Option : --

Q.21 fordsw 4w & fian fore @« & fog wRdia adia d9 & sewa @ &2

Ans

v e
X 2.0
/X 3. dsfie
/X 4. arehedre

Question ID : 816161574
Status : Answered
Chosen Option : 1
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Q.22 R4 & "@iau™ & Fafaf@d srgeael 7 @ ol a1 argede unfifa wdsar & fdar 6 mRE

Targ?
Ans X" 1. argede 23-24
/X 2. e 14-18
o 3. gz 2528
X 4. e 19-22

Question ID : 816161571
Status : Answered
Chosen Option : 3

Q.23 fmafaf@a & @ i a1 Iy Fivenesr & 9y o= Har arsm 98l svar 82

Ans x1ﬁERT
X 2. e
o 3.0
p R

Question ID : 816161562
Status : Answered
Chosen Option : 3

Q.24 fRarsh 7gRIST & AmE=T-hre | #RURYE & e 9 & S ST ar?

Ans &X' 1. are Rt
o 2 sEouE
75 3. smrErA

X 4 TR

Question ID : 816161567
Status : Not Answered
Chosen Option : --

Q.25 Which among the following has its refractive index closest to that of crown glass?

Ans X" 1. Sapphire

X 2. Diamond
“ 3. Canada balsam

X 4. Ruby

Question ID : 816161559
Status : Not Answered
Chosen Option : --

Section : Quantitative Aptitude
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Q.1
Ans x 1.
X2
v
X 4
Question ID : 816161593
Status : Answered
Chosen Option: 3
Q.2
Ans x 1.
v
X 3.
x4
Question ID : 816161587
Status : Answered
Chosen Option : 4
=
Q.3
Ans x 1.
X2
&
X
Question ID : 816161581
Status : Answered
Chosen Option: 3
~—
Q.4
Ans X 1.
2
X 3.
r

Question ID : 816161579
Status : Answered
Chosen Option : 2
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Q.5
Ans x 1.
X2
3
X 4
Question ID : 816161601
Status : Answered
Chosen Option : 3
Q.6
Ans X 1.
X2
V3
X 4
Question ID : 816161598
Status : Answered
Chosen Option : 3
—
Q.7
Ans x 1.
v
X
x4
Question ID : 816161594
Status : Answered
Chosen Option: 2
s
Q.8
Ans x 1.
v
X 3.
X 4

Question ID : 816161600
Status : Answered
Chosen Option : 2
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Q.9
Ans x 1.
V2
X 3.
X
Question ID : 816161602
Status : Answered
Chosen Option : 2
Q.10
Ans X 1.
X2
X 3.
“ 4.
Question ID :' 816161590
Status : Answered
Chosen Option : 4
—
Q.11
Ans « 1.
X2
X
x4
Question ID : 816161591
Status : Answered
Chosen Option : 1
s
Q.12
Ans x 1.
X2
X 3.

Question ID : 816161597
Status : Answered
Chosen Option : 4
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Q.13
Ans X 1.
v 2
X 3.
~oa
Question ID : 816161583
Status : Not Answered
Chosen Option : --
Q.14
Ans x 1.
v
X3
X 4
Question ID : 816161592
Status : Answered
Chosen Option: 2
—
Q.15
Ans x 1.
v
X 3.
X 4
Question ID : 816161580
Status : Answered
Chosen Option : 2
—_—
Q.16
Ans X 1.
X2
V3
~oa

Question ID : 816161596
Status : Answered
Chosen Option: 1
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Q.17

Ans X1
o2
X 3.

Question ID : 816161589
Status : Answered
Chosen Option : 4

Q.18

Ans X1
x 2
& 3

Question ID : 816161585
Status : Answered
Chosen Option : 4

=

Q.19
Ans x 1.

X 2

v s

X 4

Question ID : 816161586
Status : Answered
Chosen Option : 3
—_—

Q.20
Ans “ 1.

o2

x 3.

~oa

Question ID : 816161578
Status : Answered
Chosen Option: 1
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Q.21
Ans X 1.
X2
v
X 4
Question ID : 816161599
Status : Answered
Chosen Option: 3
Q.22
Ans x 1.
X2
v
x4
Question ID : 816161595
Status : Answered
Chosen Option : 3
=
Q.23
Ans X 1.
X2
3
X 4
Question ID : 816161584
Status : Answered
Chosen Option: 3
~—
Q.24
Ans ( 1.
X2
X 3.
X 4

Question ID : 816161582
Status : Answered
Chosen Option : 1
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Q.25

Ans X1,
v &)
X 3
< 4

Question ID : 816161588
Status : Answered
Chosen Option : 2

Section : English Comprehension

Q.1 Select the most appropriate synonym of the given word.

Sacred

Ans « 1. Holy
x 2. Valued
X 3. Scarce

x 4. Precious

Question ID : 816161617
Status : Answered
Chosen Option : 1

Q.2 Select the INCORRECTLY spelt word.
Ans X 1. Alien

“ 2. Accross
x 3. Awful

x 4. Already

Question ID : 816161625
Status : Answered
Chosen Option : 2

Q.3 Select the most appropriate meaning of the given idiom.

Look down upon

Ans « 1. To consider someone inferior
75 2. To be full of guilt
X 3. To look for something underground
x 4. To look down from a height

Question ID : 816161621
Status : Answered
Chosen Option : 4
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Q.4 Select the correct passive form of the given sentence.

The children sang the National Anthem with great enthusiasm.

Ans x 1. The National Anthem is sung with great enthusiasm by the children.
x 2. The National Anthem has been sung with great enthusiasm by the children.
x 3. The National Anthem was being sung with great enthusiasm by the children.

J 4. The National Anthem was sung with great enthusiasm by the children.

Question ID : 816161605
Status : Answered
Chosen Option: 1

Q.5 Select the option that can be used as a one word substitute for the given group of words.

A game in which neither party wins
Ans X" 1. Quit

J 2. Draw
x 3. Flop
X 4. Equal

Question ID : 816161623
Status : Answered
Chosen Option : 2

Q.6 Select the most appropriate ANTONYM of the given word.

Native
Ans x 1. Rural

/5 2. Rustic
J 3. Foreign
x 4. Urban

QuestionID: 816161619
Status : Answered
Chosen Option : 3
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Comprehension:

In the following passage some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each blank.

Advertising is the promotion of goods and services. It provides an (1) to the
manufacturing companies to sell their (2) better than their competitors. Every time we
switch (3) the television we find some product or the other (4) pushed towards
us. It cannot be denied that the (5) behind commercial advertising is to increase sales
and earn more profit.

SubQuestion No : 7

Q.7 Select the most appropriate option to fill in blank number (1).
Ans { 1. opportunity
x 2. excuse
x 3. occasion
x 4. event
Question ID : 816161610
Status : Answered
Chosen Option: 1
Comprehension:
In the following passage some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each blank.
Advertising is the promotion of goods and services. It provides an (1) to the
manufacturing companies to sell their (2) better than their competitors. Every time we
switch (3) the television we find some product or the other (4) pushed towards
us. It cannot be denied that the (5) behind commercial advertising is to increase sales
and earn more profit.
SubQuestion No : 8
Q.8 Select the most appropriate option to fill in blank number (2).
Ans

X 1. creation
« 2. products
X 3. compounds

x 4. outcome

QuestionID : 816161611
Status : Answered
Chosen Option : 2
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Comprehension:

In the following passage some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each blank.

Advertising is the promotion of goods and services. It provides an (1) to the
manufacturing companies to sell their (2) better than their competitors. Every time we
switch (3) the television we find some product or the other (4) pushed towards
us. It cannot be denied that the (5) behind commercial advertising is to increase sales
and earn more profit.

SubQuestion No : 9
Q.9 Select the most appropriate option to fill in blank number (3).

Ans X 1.in
W 2.on
X 3. off
X 4 at

Question ID : 816161612
Status : Answered
Chosen Option: 2

Comprehension:

In the following passage some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each blank.

Advertising is the promotion of goods and services. It provides an (1) to the
manufacturing companies to sell their (2) better than their competitors. Every time we
switch (3) the television we find some product or the other (4) pushed towards
us. It cannot be denied that the (5) behind commercial advertising is to increase sales
and earn more profit.

SubQuestion No : 10
Q.10 Select the most appropriate option to fill in blank number (4).

Ans X" 1 be
o 2 being
X 3. been
X 4.t0be

QuestionID : 816161613
Status : Answered
Chosen Option: 1
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Q.11
Ans

Comprehension:

In the following passage some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each blank.

Advertising is the promotion of goods and services. It provides an (1) to the
manufacturing companies to sell their (2) better than their competitors. Every time we
switch (3) the television we find some product or the other (4) pushed towards
us. It cannot be denied that the (5) behind commercial advertising is to increase sales
and earn more profit.

SubQuestion No : 11
Select the most appropriate option to fill in blank number (5).

X 1. influence
75 2. feeling
o 3. motive
75 4. emotion

Question ID : 816161614
Status : Answered
Chosen Option: 3

Q.12

Ans

Given below are four jumbled sentences. Out of the given options pick the one that gives
their correct order.

A. When a calf is born under water, the mother must get it to the surface before it drowns.
B. The young ones remain with their parents for up to fifteen years or more.
C. Often another whale assists the mother nudging the baby gently and encouraging it to

swim.
D. Whales have highly developed maternal instincts.

/5 1.DBCA
#< 2.BCAD
/5 3.CBDA
o 4. DACB

QuestionID : 816161616
Status : Answered
Chosen Option : 4

Q.13 Fill in the blank with the most appropriate word.

Ans

She was loved by her employees for her

x 1. malevolence

X 2. condolence
J 3. benevolence

X 4.insolence

QuestionID : 816161628
Status : Answered
Chosen Option : 3
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Q.14 lIdentify the segment in the sentence which contains the grammatical error. If there is no
error, select 'No error'

He married with a rich heiress last year.
Ans X" 1. last year

J 2. with arich heiress

x 3. He married

x 4. No error

Question ID : 816161603
Status : Answered
Chosen Option : 2

Q.15 Select the most appropriate meaning of the given idiom.

Keep abreast of

Ans x 1. Keep up the good work
x 2. Keep a watch on
X 3. Keep ahead of

J 4. Keep oneself updated

Question ID : 816161622
Status : Answered
Chosen Option : 1

Q.16 Select the most appropriate option to substitute the underlined segment in the given
sentence. If there is no need to substitute it, select No improvement.

Mother was watching a movie when the lights were going off.
Ans X" 1. have gone off

x 2. No improvement
x 3. going off

J 4. went off

Question ID : 816161607
Status : Answered
Chosen Option : 4
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their correct order.

road.

Ans

/< 1.CABD
75 2.BCAD
/< 3.DBAC
o 4.BDCA

B. Ramesh always worried about how he would become sick and weak in old age.
C. To try how he would cope with blindness, Ramesh started walking with his eyes closed.
D. He feared that he might even lose his sight and go blind.

Q.17 Given below are four jumbled sentences. Out of the given options pick the one that gives

A. While he was doing this, he missed seeing a velvet purse full of gold coins lying on the

Question ID: 816161615
Status : Answered
Chosen Option : 4

Weary

x 1. Touchy
x 2. Lively
x 3. Restless

J 4. Exhausted

Ans

Q.18 Select the most appropriate synonym of the given word.

QuestionID: 816161618
Status : Answered
Chosen Option: 3

Repulsive

x 1. Revolting
X 2. Hideous

75 3. Brilliant

J 4. Attractive

Ans

Q.19 Select the most appropriate ANTONYM of the given word.

Question ID : 816161620
Status : Answered
Chosen Option : 4

The minister gave an

X 1. ambition
J 2. assurance
x 3. insurance

x 4. admission

Ans

Q.20 Fill in the blank with the most appropriate word.

that strict action would be taken against the culprits.

Question ID : 816161627
Status : Answered
Chosen Option : 2
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Q.21 Select the most appropriate option to substitute the underlined segment in the given
sentence. If there is no need to substitute it, select No improvement.

Scarcely had the passengers boarded the plane when the captain welcomed them.

Ans x 1. that the captain welcomed them
X 2. when the captain had welcomed them
x 3. than the captain welcomes them

J 4. No improvement

Question ID : 816161608
Status : Answered
Chosen Option : 1

Q.22 Identify the segment in the sentence which contains the grammatical error. If there is no
error, select 'No error'

The famous author and actor are being honoured at a function today
Ans J 1. are being honoured

x 2. The famous author and actor

X 3. No error

X 4. at a function today

Question ID : 816161604
Status : Answered
Chosen Option : 1

Q.23 Select the option that can be used as a one word substitute for the given group of words

That which cannot be satisfied
Ans X" 1 Insane

X 2. Ingenuous
X 3. Inapt
J 4. Insatiable

Question ID : 816161624
Status : Answered
Chosen Option : 4

Q.24 Select the correct indirect form of the given sentence.

The traveller said to a passerby, "Can you help me find my way, please?"

Ans x 1. The traveller requested to the passerby if he can help him find his way.
x 2. The traveller asked the passerby that he can kindly help him find his way.
J 3. The traveller asked the passerby if he could kindly help him find his way.

x 4. The traveller asked the passerby could you kindly help me find my way?

Question ID : 816161606
Status : Answered
Chosen Option : 1
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Q.25 Select the INCORRECTLY spelt word.

Ans

( 1. Guarranty
x 2. Guardian
x 3. Guidance

x 4. Guilty

Question ID : 816161626
Status : Answered
Chosen Option: 1
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